BRIDGETON BOARD OF EDUCATION PUBLIC ACTION MEETING July 9, 2013

The public action meeting of the Bridgeton Board of Education was called to order at 6:00 p.m. by Nicole Schoener. Board Members present were Mr. Albert Morgan (left meeting at 6:40 p.m.), Ms. Barbara Taylor-Holmes, Mrs. Mary Peterson, Mrs. Brenda Dellaquilla, Mr. James Williamson, Mr. Curtis Edwards, Mr. Ricardo Perez and Mr. Kenny Smith-Bey. Ms. Angelia Edwards was absent. Also in attendance were, Dr. Thomasina Jones, Superintendent, Mr. Kevin P. McCann, Board Solicitor, Mrs. Nicole M. Schoener, School Business Administrator and Mr. Nedd Johnson, Assistant Superintendent. Prayer was offered by Ms. Taylor Holmes.

1.5 OPEN PUBLIC MEETING STATEMENT

The New Jersey Open Public Meeting Law was enacted to insure the right of the public to have advance notice of and to attend the meetings of the public bodies at which any business affecting their interests is discussed or acted upon. Bridgeton Board of Education has caused notice of this meeting to be published by having the date, time and place thereof posted on the bulletin board in the lobby of the Bank Street Administration Building and mailed to the City Clerk of Bridgeton, South Jersey News, Bridgeton, The Press of Atlantic City, Pleasantville and Radio Station WSNJ, Bridgeton on May 22, 2013.

1.6 PUBLIC PARTICIPATION

Mr. Fuller from Well Done Athletics presented a plaque of appreciation thanking the Board for use of the athletic complex. He expressed the hope to continue complex usage.

1.7 <u>RESOLUTIONS</u> – Motion by Mrs. Peterson, second by Mr. SmithBey approving the Non-Affiliate Salary Cap Resolution.

Motion carried, roll call vote was 7-0.

1.8 PRESENTATIONS –

Magic Johnson Bridgescape Program – Dr. Jones introduced Ms. Kristy Baldwin-Crocetto. Dr. Jones presented information on the Magic Johnson Bridgescape program. The Presentation information is attached as part of the minutes. Attendance was an issue for 29 students missing over 10 days. Four students were interviewed how the opportunity has helped them be successful. The first graduation ceremony will be on July 25, 2013.

2012-2013 District Data Review – Dr. Chris Tavani presented data review 2012 vs. 2013

Writing Prompt: 2012=>3; 2013=>3.2, presented grades 3-8

Reading (F&P) 2012-2013 Fall = 44% vs. Spring 52% on grade level

HSPA Math & LAL:

Passing Math- 2012 = 50% and 2013=52%

Passing LAL- 2012 = 74% and 2013 = 76%

Access for ELLS passing:

2012=16% and 2013=18%

Discipline Data:

2012=8912 referrals

2013=6269 referrals

Each schools data was shown to the board

Attendance data: Students missing over 10 or more days

2012 = 26%

2013=36%

Each schools data was shared with the board

The Board expressed concern about the high percentage of K & 1st graders missing more than 10 or more days and how to make the parents accountable for the child being present. Dr. Jones explained the efforts we do to improve the attendance.

Mr. Morgan left the meeting at 6:40pm.

Harassment, Intimidation and Bullying (HIB) Report – Dr. Jones presented the HIB for June, 10^{th} grade student for harassment.

50 last year, 50 this year. The staff climate survey and student survey was shared. Each area of the Survey was described for items that fell into each of them.

Redistricting – Change in Boundary Lines – Mr. Bob Stevens explained the change in boundry lines. The changes occurred attempting to address overcrowding issues at some of our K-8.

Dr. Jones expressed the need to apply for a waiver request at PreK to increase from 15 to 17 students. Dr. Jones explained the change in end times due to adding the 15 minutes of non instructional time.

1.9 APPROVAL OF MINUTES

Motion by Mrs. Peterson, second by Mr. SmithBey approving the following minutes: Regular Agenda Session/Public Action Meeting June 11, 2013 *Motion carried, roll call vote was 7-0.*

*CONSENT AGENDA

The board reviewed the agenda.

Item 2.1 *Approval of Textbooks - NONE

Item 2.2 a-h *Approval of Professional Development

a. Approved the following staff to attend Teacher Evaluation Training on August 19 & 21, 2013 from 9:00 AM – 3:00 PM at EIRC, Mullica Hill, NJ. Registration fee \$280.00 each, Acct. # 20-271-200-580-00-40 CO.

Dr. Azeem Ahmad Mr. Deionne Thrbak Ms. Taja Board Mr. Sterling Rainier

Ms. Karli Fratz Ms. Dorian Giorgio Mr. Sam Hull

Ms. Reba Steiner Mr. Steven Morris Ms. Wendy Jamerson Ms. Heidi Dugan Ms. Olga Rivera Mr. Stephen Lynch Mr. Karl Brown Ms. Isolde Waddington Ms. Monica Moyer Ms. Deborah Harris Ms. Bronwen Sewall Ms. Cynthia Wilks

- b. Approved the following staff to attend the Annual Principal Summer Institute at Rowan University on July 16 & 17, 2013 from 8:15 AM 2:30 PM. Registration fee \$299.00 each, Acct. # 20-271-200-580-00-40 CO.
 - Mr. Karl Brown
 - Ms. Alesha Taylor
- c. Approved the following staff to attend Teacher Evaluation Training on July 29 & 31, 2013 from 9:00 AM 3:00 PM at EIRC, Mullica Hill, NJ. Registration fee \$280.00 each, Acct. # 20-271-200-580-00-40 CO.

Ms. Jeanine Macchia Mr. Maurice DeShields Ms. Deidre Montgomery

Mr. Francis Ferrara Ms. Mary Shepherdson Dr. Chris Tavani Mr. Stephen DiPatri Ms. Emily Cannon Ms. Christina Nickle

Mr. Shawn Bridges Mr. Thomas Meyers

d. Approved the following staff to attend the NJ Science Convention at the Princeton Marriott at Forrestal on October 15 & 16, 2013 from 8:00 – 4:00 PM. Registration fee \$280.00 each, Acct. # 11-000-221-580-00-26.

Ms. Gloria Cooper Mr. Douglas Frost Ms. Katherine Rivera

Mr. James McShea
Ms. Charlene Hodinka
Mr. Romaine Street
Mr. Stephen Jublou
Ms. Michelle Andrews
Mr. Travis Ludwick
Ms. Sharon Blong
Mr. Mark Raybould
Ms. Brianna Carroll
Ms. Erin Sager

Ms. Kathleen Sharp Ms. Dorian Giorgio -#15-000-223-590-00-02

- e. Approved <u>Juanita Aviles-Childers</u>, Speech Intern from Nova Southeastern University, to begin internship at GOFECC September 1, 2013 through June 30, 2014.
- f. Approved Substitute Teacher Training on August 15, 2013. The substitute training will cover existing and new Board policies, General Responsibilities, Sexual Harassment & Bullying training and review of the substitute handbook. Seventy substitutes x \$45.00 = \$3150.00. Acct. # 11-130-100-101-01.

Item 2.3 *Approval of Student Programs

a. Approved the revised Summer Literacy BRIDGE Program location (previously approved for QML).

Summer	30	WEST	9-1	8	7/1/13	7/30/13	Gbesi	Title I
Literacy								
BRIDGE								
program								

- b. Approved Indian Avenue School Dad Take Your Child to School Day on September 19, 2013. Fathers of students in grades 5-8 will begin their day with a light breakfast with their child, after they will escort their children to class and then meet with other fathers in the media center for approx. 15 minutes for a brief father empowerment presentation and prizes. Refreshments not to exceed \$200.00, Acct. 20-237-200-610-05-40.
- c. Approved Indian Avenue School Store to open October 15, 2013. Students will visit the school store on a weekly schedule. The school store promotes math skills, school spirit and general teamwork. IAS will adhere to the district's policy concerning the collecting of sales taxes by completing the necessary paper work. There is no cost to the Board.

- d. Approved Indian Avenue School Parent Volunteers in the Classroom to begin October 15, 2013. Parent volunteers will assist the teacher by performing duties that are assigned by the teacher, such as photocopying and organizing materials.
 IAS will notify parents of the fingerprinting policy that the Board has adopted and parents will comply prior to being scheduled to assist teachers.
- e. Approved Indian Avenue School Bridgeton Reads Program for Kindergarten and first grades on October 17, 2013. This evening activity is designed to enhance the joy of reading and family togetherness. The students will wear pajamas and listen to the Media Specialist read a story and will illustrate the story by drawing and coloring. Parents will then use pre-selected books to read and share with their child. Refreshments not to exceed \$200.00, Acct. # 20-237-200-610-05-40.
- f. Approved Indian Avenue School Being a Writer/Evening of Thanks on November 26, 2013. 3rd grade students will demonstrate their ability to use the skills they have acquired from the Being a writer series. Students will write their parents/guardians a thank you letter and will serve their parents light refreshments. Refreshments not to exceed \$200.00, Acct. # 20-237-200-610-05-40.
- g. Approved Child Assault Prevention (CAP) No More Bullies, No More Victims Presentation at Indian Avenue School on October 8, 2013 for the teacher/parent evening component, and October 15-25, 2013 for the K-5 student component (90 minute block and review day for grades 6-8). Refreshments for the parent evening not to exceed \$100.00, Acct. # 20-237-200-610-05-40.
- h. Approved the 21st Century After School Program to be held at Cherry Street School for the 2013-2014 school year. The 5th year continuation was approved by the State of NJ with the Cumberland Empowerment Zone as the lead agency. The program will begin in September 2013 and run 3 hours per day, 5 days per week. All materials, programs and transportation are funded through the grant.

Item 2.4 *Approval of NJ Model Curriculum Alignment

Approved NJ Model Curriculum Alignment (2013-2014 Indian Avenue SIP) grade level team members will work collaboratively to align current district curriculum/resources with the NJ Model Curriculum SLO's/Unit Assessments. Stipends to continue work on units 1, 2 and 3 prior to implementation in September. 15 teachers x 3 days x 5 hours per day, not to exceed \$10,000.00, Acct. # 20-238-200-110-04-40.

Item 2.5 *Approval of Fall Curriculum Writing BHS Arts

Approved Fall Curriculum Writing for the new BHS Theatre VIII course. The following curriculum must be written to meet the New Jersey 2009 Core Curriculum Content Standards. The course was approved at the March 2013 Board meeting. 1 teacher x 42 hours x \$27.00 + 86.75 FICA = \$1220.75, Acct.20-237-200-100-00-40.

Item 2.6 *Approval of Math Consultant

Approved Molly Felicia to provide mathematics coaching for grades K-2 from September 2013 through May 2014. The coaching method shall be designed to move from demonstrating lessons to co-teaching and conclude with a critiqued lesson of the teacher by the consultant. The consultant shall do two (2) coaching sessions per day.

55 Visitations x \$1600.00 per day =\$88,000.00. Acct. #11-000-221-320-00-19.

Item 3.1 a-d *Approval of Field Trips

- a. Approved the BHS Tennis Team to travel to the 2013 US Open at Flushing Meadows, Washington, DC on August 28, 2013, departing 7:30 AM and returning 10:00 PM. Twenty-one students and four chaperones will attend. There is no cost to the Board.
- b. Approved 21st Century Program to travel to the Bridgeton Zoo on July 12, 2013. Fifty students and 8 chaperones will attend. There is no cost to the Board.
- c. Approved 21st Century Program to travel to the Bridgeton Splash Park on July 15, 2013. Fifty students and 8 chaperones will attend. There is no cost to the Board.
- d. Approved 21st Century Program to travel to the Bridgeton Park on July 19, 2013. Fifty students and 8 chaperones will attend. There is no cost to the Board.

Item 4.1.1 a-b *Ratification of Retirement of Certificated Staff

- a. Ratified retirement of <u>Ms. Sharon Foster</u> from the position of Grade 8 Language Arts Teacher at West Avenue School, effective July 1, 2013.
- b. Ratified retirement of Ms. Cindy Fredrick from the position of Preschool Master Teacher at Geraldyn O. Foster Early Childhood Center, effective July 1, 2013.

Item 4.1.2 *Approval of Retirement of Non-Certificated Staff

Approved the retirement of Mr. Joseph Fairman from the position of Custodian at Geraldyn O. Foster Early Childhood Center, effective October 1, 2013.

Item 4.1.3 *Ratification of Rescission of Certificated Staff

Ratified the rescission of appointment of <u>Ms. Kacey Burke</u>, from the position of Psychologist Intern at Bank Street Administration Building for the 2013-2014 school year, effective June 6, 2013.

Item 4.1.4 a-i *Approval of Resignations of Certificated Staff

- a. Approved resignation of Ms. Margaret Conaway from the position of Middle School Language Arts Teacher at Indian Avenue School, effective August 19, 2013 or sooner if a replacement is found.
- b. Approved resignation of Ms. Jennifer DeLellis from the position of Math Teacher at Bridgeton High School, effective August 25, 2013 or sooner if a replacement is found.
- c. Approved resignation of Mr. Matthew Hemighaus from the position of Response To intervention Math Teacher at Cherry Street School, effective August 12, 2013 or sooner if a replacement is found.
- d. Approved resignation of Ms. Carina Jovanovic from the position of Spanish Teacher at Bridgeton High School, effective August 24, 2013 or sooner if a replacement is found.
- e. Approved resignation of Ms. Carole Kologi-Zawacki from the position of French Teacher at Bridgeton High School, effective August 19, 2013 or sooner if a replacement is found.
- f. Approved resignation of Ms. Leticia Pescador from the position of K-8 World Language Teacher at West Avenue School, effective August 10, 2013 or sooner if a replacement is found
- g. Approved resignation of Ms. Kathryn Eckstein-Lewis from the position of Biology Teacher at Bridgeton High School, effective August 26, 2013 or sooner if a replacement is found.

- h. Approved resignation of <u>Ms. Sarah Arenberg</u> from the position of Preschool Teacher at Geraldyn O. Foster Early Childhood Center, effective August 28, 2013 or sooner if a replacement is found.
- i. Approved resignation of Mr. James Mitchell from the position of Business Education Teacher at Bridgeton High School, effective September 1, 2013 or sooner if a replacement is found.

Item 4.1.5 *Approval of Resignation of Non-Certificated Staff

Approved the resignation of Ms. Michaelena Riordan from the position of 12-Month Secretary in the Purchasing Office at Bank Street Administration Building, effective July 10, 2013.

Item 4.1.6 a-i *Approval of Leaves of Absences of Certificated Staff

- a. Approved request of Ms. Jaime Marrone, Teacher at GOFECC, for a Family Medical Leave of Absence and New Jersey Family Leave of Absence, without pay from September 3, 2013 to November 21, 2013 and a New Jersey Family Leave of Absence, without pay from November 22, 2013 to January 15, 2014. This leave and paid sick days are subject to change.
- b. Approved request of Ms. Danica Carmichael, Guidance Counselor at Buckshutem Road School, for a Family Medical Leave of Absence, with pay from September 3, 2013 to September 12, 2013 and without pay from September 13, 2013 to October 25, 2013 and a Family Medical Leave of Absence and New Jersey Family Leave of Absence, without pay from October 26, 2013 to January 15, 2014 and a New Jersey Family Leave of Absence, without pay from January 16, 2014 to March 13, 2014. This leave and paid sick days are subject to change.
- C. Approved request of Ms. Stefanie Nichols, Teacher at Cherry Street School, for a Family Medical Leave of Absence, with pay from September 3, 2013 to September 11, 2013 and without pay from September 12, 2013 to September 25, 2013 and a Family Medical Leave of Absence and New Jersey Family Leave of Absence, without pay from September 26, 2013 to January 15, 2014 and a New Jersey Family Leave of Absence, without pay from January 16, 2014 to February 11, 2014. This leave and paid sick days are subject to change.
- d. Approved request of Ms. Fallon Bates, Teacher at Indian Avenue School, for a Family Medical Leave of Absence and New Jersey Family Leave of Absence, without pay from September 3, 2013 to October 31, 2013 and a New Jersey Family Leave of Absence, without pay from November 1, 2013 to January 1, 2014. This leave and paid sick days are subject to change.
- e. Approved request of Ms. Erin D'Agostino, Teacher at Buckshutem, for a Family Medical Leave of Absence and New Jersey Family Leave of Absence, without pay from September 3, 2013 to November 3, 2013. This leave and paid sick days are subject to change.
- f. Approved request of Ms. Stacie Cuff, Teacher at Broad Street School, for a Family Medical Leave of Absence and New Jersey Family Leave of Absence, without pay from September 3, 2013 to November 1, 2013. This leave and paid sick days are subject to change.
- g. Approved request of Ms. Holly Hughes, Teacher at Broad Street School, for a Family Medical Leave of Absence and New Jersey Family Leave of Absence, without pay from September 3, 2013 to November 13, 2013 and a New Jersey Family Leave of Absence, without pay from November 14, 2013 to January 1, 2014. This leave and paid sick days are subject to change.

- h. Approved request of Ms. Teana Kelley, Teacher at Broad Street School, for a Family Medical Leave of Absence and New Jersey Family Leave of Absence, without pay from September 3, 2013 to September 17, 2013 and a New Jersey Family Leave of Absence, without pay from September 18, 2013 to December 12, 2013. This leave and paid sick days are subject to change.
- i. Approved request of Ms. Christina Mendolera, Teacher at Broad Street School, for a Family Medical Leave of Absence and New Jersey Family Leave of Absence, without pay from September 3, 2013 to November 1, 2013 and a New Jersey Family Leave of Absence, without pay from November 4, 2013 to January 15, 2014. This leave and paid sick days are subject to change.
- j. Approved request of Ms. Jacqueline Wraight, Teacher at Indian Avenue School, for a Family Medical Leave of Absence and New Jersey Family Leave of Absence, without pay from September 3, 2013 to October 4, 2013 and a New Jersey Family Leave of Absence, without pay from October 5, 2013 to December 9, 2013. This leave and paid sick days are subject to change.

Item 4.1.7 a-d *Ratifications of Leaves of Absences of Certificated Staff

- a. Ratified request of Ms. Robert Wisniewski, Teacher at Broad Street School, for a **Family Medical Leave of Absence**, with pay from June 18, 2013 to June 30, 2013 or sick days are exhausted, then unpaid until patient released from doctor's care, not to exceed 12 weeks, to be used on an intermittent basis.
- b. Ratified request of <u>Ms. Gina Collins</u>, Teacher at Indian Avenue School, for a **Family Medical Leave of Absence**, with pay from June 17, 2013 to June 30, 2013 or released from doctor's care, not to exceed 12 weeks.
- c. Ratified request of <u>Ms. Sally Pierce</u>, Teacher at Broad Street, for a **Family Medical Leave of Absence**, with pay from June 24, 2013 to June 30, 2013 or released from doctor's care, not to exceed 12 weeks.
- d. Ratified request of Ms. Christine McGowan, Teacher at Broad Street, for a **Family Medical Leave of Absence**, with pay from May 8, 2013 to June 7, 2013 and without pay from June 8, 2013 to June 30, 2013 or released from doctor's care, not to exceed 12 weeks.

Item 4.1.8 a-b *Approval of Leaves of Absences of Non- Certificated Staff

- a. Approved request of <u>Ms. Candy Menz</u>, Secretary at QML, for a **Family Medical Leave of Absence**, with pay from September 1, 2013 to June 30, 2014 or sick days are exhausted, then unpaid until patient released from doctor's care, not to exceed 12 weeks, to be used on an intermittent basis.
- b. Approved request of <u>Ms. Loyda Solano Torres</u>, Secretary at Broad Street School, for a **Family Medical Leave of Absence**, with pay from September 1, 2013 to June 30, 2014 or sick days are exhausted, then unpaid until patient released from doctor's care, not to exceed 12 weeks, to be used on an intermittent basis.

Item 4.1.9 a-d *Ratifications of Leaves of Absences of Non- Certificated Staff

- a. Ratified request of Ms. Sheree Silva, Community and Parental Involvement Specialist at QML, for a Family Medical Leave of Absence, with pay from July 8, 2013 to August 20, 2013 and without pay from August 21, 2013 to September 4, 2013 and a Family Medical Leave of Absence and New Jersey Family Leave of Absence, without pay from September 5, 2013 to November 5, 2013 and a New Jersey Family Leave of Absence, without pay from November 6, 2013 to January 17, 2014. This leave and paid sick days are subject to change.
- b. Ratified request of Mr. Charles McPherson III, Maintenance at Bank Street Annex, for a **Family Medical Leave of Absence**, with pay from June 11, 2013 to June 30, 2013 or sick days are exhausted, then unpaid until patient released from doctor's care, not to exceed 12 weeks, to be used on an intermittent basis.
- c. Ratified request of Ms. Gloria Nakai, Instructional Aide at Cherry Street School, for a **Family Medical Leave of Absence**, with pay from April 3, 2013 to June 14, 2013 or released from doctor's care, not to exceed 12 weeks.
- d. Ratified request of Ms. Selinnette Lugo, Custodian at GOFECC, for a **Family Medical Leave of Absence**, without pay on July 9, 2013 to July 12, 2013, or released from doctor's care, not to exceed 12 weeks.

Item 4.2.1 a-g *Approval of Appointment of Certificated Staff

- a. Approved the appointment of Ms. Michelle Maccarone to the position of Middle School Math Teacher at Indian Avenue School for the 2013-2014 school year, effective September 3, 2013, on Step 0 of the BA Salary Guide, \$48,200.00. Account # 15-130-100-101-00-05. PC# 710.
- b. Approved the appointment of Ms. Maite Reyes to the position of Guidance Counselor at Broad Street School for the 2013-2014 school year, effective September 3, 2013, on Step 1 of the MA Salary Guide, \$50,350.00. Account # 11-000-218-104-00-01. PC# 2449.
- c. Approved the appointment of Ms. Sophia Amaranto-Anzisi to the position of ExCEL 10 English Teacher at Bridgeton High School for the 2013-2014 school year, effective September 3, 2013, on Step 0 of the BA Salary Guide, \$57,840.00. Account # 11-140-100-101-00-73. PC# 2451.
- d. Approved the appointment of Mr. Jonathan Strope to the position of ExCEL 10 Mathematics Teacher at Bridgeton High School for the 2013-2014 school year, effective September 3, 2013, on Step 0 of the BA Salary Guide, \$57,840.00. Account # 11-140-100-101-00-73. PC# 2452.
- e. Approved the appointment of Ms. Erin Gibbs to the position of Mathematics Teacher at Bridgeton High School for the 2013-2014 school year, effective September 3, 2013, on Step 4 of the BA Salary Guide, \$51,120.00. Account # 15-140-100-101-00-02. PC# 471.
- f. Approved the appointment of Mr. Brett McDonald to the position of English Teacher at Bridgeton High School for the 2013-2014 school year, effective September 3, 2013, on Step 0 of the BA Salary Guide, \$48,200.00. Account # 15-140-100-101-00-02. PC# 228.

g. Approved the appointment of Ms. Marissa Stoddard to the position of School Nurse at Cherry Street School for the 2013-2014 school year, effective September 3, 2013, on Step 3 of the MA Salary Guide, \$51,520.00. Account # 15-000-213-104-00-04. PC# 51.

Item 4.2.2 *Approval of Transfers of Certificated Staff

Approved the following transfers of certificated staff members for the 2013-2014 school year, effective September 3, 2013.

Name of Teacher	Current Position	New Position/Building	Account#
Sarah Hancock	ICR Teacher – Indian Ave –	Gr. 7/8 CM4 Teacher –	15-213-100-
	PC # 2430	Broad St. – PC #2346	01-00-03
Tiffanie ThrBak	Gr. 7/8 CM4 Teacher-Broad	Gr. 5/6 LLD Teacher-	15-204-100-
	St. – PC # 2346	Cherry St. – PC #950	610-0-04

Item 4.2.3 a-b *Approval of Change of Salary Status of Certificated Staff

- a. Approved change of salary status of Mr. James Pierce, Health and Physical Education Teacher at Indian Avenue School, from Step 2 of the BA Salary Guide, \$48,870.00 to Step 2 of the BA+30 Salary Guide, \$49,570.00 effective October 1, 2013. Account # 15-120-100-101-00-05 and 15-130-100-101-00-05. PC # 694.
- b. Approved change of salary status of <u>Ms. Heather Mingin</u>, Grade 3 Teacher at West Avenue School, from Step 8 of the BA+30 Salary Guide, \$56,590.00to Step 8 of the Masters Salary Guide, \$57,390.00 effective October 1, 2013. Account# 15-130-100-101-00-07. PC #526.

Item 4.3.1 a-b *Approval of Appointment of Non-Certificated Staff

- a. Approved the appointment of Mr. Glenn Pender to the position of Educational Enforcement Officer at Bridgeton High School for the 2013-2014 school year, effective September 3, 2013. The salary will be \$37,187.00, pending negotiations. Account # 15-000-266-110-00-02. PC # 1692.
- b. Approved the appointment of Mr. Anthony Torres to the position of Special Education Instructional Aide at West Avenue School for the 2013-2014 school year, effective September 3, 2013, on Step 4 of the Aides' Salary Guide, \$22,500.00 plus \$800.00 for Bachelors Degree, total salary of \$23,300.00. Account # 15-209-100-106-00-07. PC # 2402.

Item 4.4.1 a-b *Approval of Substitutes for the 2013-2014 School Year

a. Approved the following substitutes for the 2013-2014 school year:

Name	Position	Certifi	Rate	Account #
		cate		
Ryan Boyd	Substitute	N/A	\$13.84 per hour	11-000-270-107-
	Bus Driver			03-01
Jack Narbut	Substitute Teacher	County	\$90.00 per day	To be determined
Audrey Coombs	Substitute Teacher	County	\$90.00 per day	To be determined
Nelson Pierce	Substitute	N/A	\$10.75 per hour	11-000-262-110-
	Custodian			01-23
Selina Thompson-	Substitute	N/A	\$9.50 per hour	To be determined
Hall	Secretary			

b. Approved the following substitutes for the 2013-2014 school year, effective October 1, 2013, upon retiring from Bridgeton Public Schools on July 1, 2013:

Name	Position	Certificate	Rate	Account #
Mary Beth	Substitute Teacher	Standard Elementary	\$100.00 per	To be
Galex		Standard English	day	determined
Olga Figueroa	Substitute	N/A	\$70.00 per	To be
	Instructional Aide		day	determined

Item 4.4.2 *Approval of Rehire of Substitutes for the 2013-2014 School Year

Substitute Teachers – Accounts to be determined

Substitute Secretaries – Accounts to be determined

Substitute School Nurses – Accounts to be determined

Substitute Bus Drivers – Account #11-000-270-107-03-01

Substitute Custodians – Accounts #11-000-262-110-01-23

Substitute Cafeteria Aides – Account #60-000-000-000-01

Substitute Instructional Aides – Accounts to be determined

Substitute Bus Aides - Account 311-000-270-161-00-25

Substitutes Breakfast Aides – Account #60-000-000-000-02

Substitute Security Monitor – Accounts to be determined

Substitutes Educational Enforcement Officer – Accounts to be determined

Substitute Principal - Accounts to be determined

SUBSTITUTES REHIRE FOR 2013-2014

SUBSTITUTE BUS D	PRIVER
NAME	RATE
Jerry Benfer	\$13.84/HR.
Mark McArthur	\$13.84/HR.
Barbara Perry	\$13.84/HR.
David Peterson	\$13.84/HR.
Courtenay Reece	\$13.84/HR.
SUBSTITUTE BUS	AIDE
NAME	RATE
Vanessa Edwards	\$8.40/HR
Kimberly Hall	\$8.40/HR
John McClain	\$8.40/HR
Shaniqa Stocks	\$8.40/HR
-	

SUBSTITUTE CAFE	
NAME	RATE
Catherine Baker	\$8.33/HR
Roshunda Braziel	\$8.33/HR
Nicole Butler	\$8.33/HR
Pamela Coney	\$8.33/HR
Vanessa Edwards	\$8.33/HF
Celeste Hazzard	\$8.33/HF
Delores Jackson	\$8.33/HF
Pasqualina Melchiorre	\$8.33/HR
MaryAnn Miller	\$8.33/HR
Maryanne Spinelli-Jones	\$8.33/HR
Shaniqa Stocks	\$8.33/HR
Domoquet Taylor	\$8.33/HR
Shermere Williams	\$8.33/HR
SUBSTITUTE CUST	CODIAN
NAME SUBSTITUTE COST	RATE
John Bailey	\$10.75/HR
Laurie Buirch	\$10.75/HR
Vernell Comer	\$10.75/HR
Mikilea Clark	\$10.75/HR
Pamela Coney	\$10.75/HR
Janette Corley	\$10.75/HR
Milagros Diaz	\$10.75/HR
Monique Goff	\$10.75/HR
Leston Hall	\$10.75/HR
Fabio Hernandez	\$10.75/HR
Darnell Lawrence	\$10.75/HR
Margarita Lopez	\$10.75/HR
John McClain	\$10.75/HR
Maryann Miller	\$10.75/HR
Michael Randolph	\$10.75/HR
Dustin Sharkey	\$10.75/HR \$10.75/HR
Dustin Diarky	φ10./3/ΠK
•	\$10.75/LID
Shaniqa Stocks	\$10.75/HR \$10.75/HR
Shaniqa Stocks Osco Williams	\$10.75/HR
Shaniqa Stocks	

SUBSTITU	TE SECURITY MONITOR
NAME	RATE
Carlos Diaz	\$10.21/HF
George Linen, Jr.	\$10.21/HF
Antonio Orozco	\$10.21/HF
	•
SUBSTITUTE EDUCA	FIONAL ENFORCEMENT OFFICER
NAME	RATE
Horace MacFarland	\$23.25/HR
SUBST	ITUTE SECRETARY
NAME	RATE
Roshunda Braziel	\$9.50/HI
Leah Fahber	\$9.50/HR
Lois Gandy	\$9.50/HR
Karen Hummel	\$13.10/HF
Susie Jones	\$9.50/HF
Gloria Kates	\$9.50/HF
Sandra Lavine	\$9.50/HF
JoAnn Macchia	\$9.50/HF
Rhuby Marsh	\$13.10/HF
MaryAnn Miller	\$9.50/HI
Frances Muffley	\$9.50/HI
Stephanie Walker	\$9.50/HI
Audrey Weldon	\$9.50/HI
SUBSTIT	UTE TEACHERS-AIDE
NAME	CERTIFICATE RATE
Walter Campbell	\$70/DA
Robert Dickson	\$70/DA
Leah Fahber	\$70/DA
Sharon Flournoy	\$70/DA
Adrian Garrett	\$70/DA
Michael Greer	\$70/DA
George Linen Jr.	\$70/DA
Katrina McCullough	\$70/DA
Maryann Miller	\$70/DA
Christina Murphy	\$70/DA
Viola Pierce	\$70/DA
Maribeth Propert	\$70/DA

Maria Sabio	\$70/DAY
Audrey Weldon	\$70/DAY
Katherine Williams	\$70/DAY

SUBSTITUTE TEACHERS

NAME	CERTIFICATE	RATE
Bridget Adams	County	\$90/DAY
Joyce Allen	Standard-Elementary, Tch. Of Handicapped	\$100/DAY
Sophia Amaranto	CEAS-English	\$90/DAY
Rosamaria Andon	County	\$90/DAY
Elaine Ansink	Standard-Elementary	\$100/DAY
Corrine Arenz	County	\$90/DAY
Norman Ashton	County	\$90/DAY
Vivian Bailey	County	\$90/DAY
Ray Bano	Standard-Math	\$100/DAY
Dara Bardoe	County	\$90/DAY
Marsha Bennett	County	\$90/DAY
Ricardo Berrios	County	\$90/DAY
Salvatore Blandino	Standard-Health/PE, Drivers Ed.	\$100/DAY
Kelsey Branch	County	\$90/DAY
Ariel Broughton	County	\$90/DAY
Henry Brown	Standard-Educational Media Specialist	\$100/DAY
Linda Brown-Bey	County & RN	\$100/DAY
Linda Brown-Bey	County	\$90/DAY
Brianna Bucci	County	\$90/DAY
Selina Jo Bundy	StdElementary & Teacher of Handicapped	\$100/DAY
Verona Burgess	County	\$90/DAY
ElShaddai Burks	County	\$90/DAY
Tiffany Burnett	County	\$90/DAY
Sara Cain	County	\$90/DAY
Mindy Calcagnini	Standard-Nursery School & Elementary	\$100/DAY
Walter Campbell	County	\$90/DAY
Linda Carman	Standard-Elementary	\$100/DAY
Lindsay Carman	County	\$90/DAY
Leticia Carrasco	County	\$90/DAY
Sara Cartagena	County, CE-Spanish, CE-Bilingual/Bicultural	\$90/DAY
Jane Chambers	Standard-Student Personnel Services	\$100/DAY
Sherry Coraluzzo	Standard-Elementary	\$100/DAY
Mary Cossaboon	Standard-Teacher of Music	\$100/DAY
Sarah Cossaboon	County	\$90/DAY
Theresa Costroff	County	\$90/DAY

J. Michael Coyne	Standard-Elementary	\$100/DAY
Desrene Cross	County	\$90/DAY
Kimberly Cruzan	CE-Elementary K-5 & Preschool -3 rd Grade	\$90/DAY
Rhonda Danna	County	\$90/DAY
Tyler Davenport	County	\$90/DAY
Florine Davis	County	\$90/DAY
Andrea Davy-Bradnock	County	\$90/DAY
Braheme Days	CE-Teacher of Business	\$90/DAY
John DeVoe	Standard-Elementary	\$100/DAY
Robert Dickson	County	\$90/DAY
Katie DiJoseph	County	\$90/DAY
Dell Dinicola	CE-Elemetary K-5, CE-Elem. w/Math 5-8	\$90/DAY
Nicole Donato	CE-Teacher of Psychology	\$90/DAY
Monica Doss	County	\$90/DAY
Marsha Dunkins	Standard-Tch. of Handicapped & Guidance	\$100/DAY
Wendie Durham-Allen	County	\$90/DAY
Debra Emery	Stanard-Preschool-3 rd Grade	\$100/DAY
Leah Fahber	County	\$90/DAY
Virginia Feinstein	CE-Art	\$90/DAY
Sharon Flournoy	County	\$90/DAY
Mariah Frost	County	\$90/DAY
Nedra Furtek	Std-Elementary	\$100/DAY
Ceasar Garcia	County	\$90/DAY
Adrian Garrett	County	\$90/DAY
Robert Giacoboni	County	\$90/DAY
LaToya Gibbons	County	\$90/DAY
Stephon Gibbs	County	\$90/DAY
Jacqueline Gillard	County	\$90/DAY
Douglas Glenning	County	\$90/DAY
Aubrey Goldsboro	County	\$90/DAY
Ashley Gonzalez	County	\$90/DAY
Rachel Goode	CE-Elementary K-5, CE-Elem. w/SS 5-8	\$90/DAY
Karen Grant	County	\$90/DAY
Michael Greer	County	\$90/DAY
Byron Griffin	County	\$90/DAY
Dorothea Hall	County	\$90/DAY
Paul Halley	Standard-Elementary, SS, Elem w/Sc. 5-8	\$100/DAY
Thomas Hamidy	County	\$90/DAY
Jessica Harrell	County	\$90/DAY
Louis Hayes	County	\$90/DAY
Diana Heisroth	County	\$90/DAY

Nina Hendricks	Standard-English	\$100/DAY
Wayne Hendricks	Standard-Teacher of Handicapped	\$100/DAY
Simone Henry	County	\$90/DAY
Aldo Hernandez	CEAS-Elementary K-5	\$90/DAY
Shantia Hollis	County	\$90/DAY
Keisha Hunter	County	\$90/DAY
Sabino Iovino	Standard -Eng., Soc. Studies & Supervisor	\$100/DAY
Michael Iveson	Standard – Elementary K-5	\$100/DAY
Constance Johnson	Standard-P-3	\$100/DAY
AnnMarie Johnson	Standard-Health/PE & Drivers Ed.	\$100/DAY
Onieka Johnson	County	\$90/DAY
LaToyia Jones	County	\$90/DAY
Jewel Jones	County	\$90/DAY
Barbara King	County	\$90/DAY
Valentina Kobylinski	Standard-Elementary	\$100/DAY
Michelle Kong	County	\$90/DAY
John Lemon	Standard-Social Studies	\$100/DAY
Patricia Lieberman-Sharp	Standard-Elementary	\$100/DAY
George Linen Jr.	County	\$90/DAY
Cassandra Logan	County	\$90/DAY
Ashley Loufik	CEAS-Teacher of Music	\$90/DAY
Donna Lowry	County	\$90/DAY
Patricia MacFarland	County	\$90/DAY
Mary Magee	County	\$90/DAY
Melinda Maldonado	County	\$90/DAY
Nicole Maloy	County	\$90/DAY
Nadine Manning	County	\$90/DAY
Marie Marlor	County	\$90/DAY
Teena Marsh	County	\$90/DAY
Kathleen Martinelli	Stndard-Elementary	\$100/DAY
Idalia Martinez	County	\$90/DAY
Erin Maslanik	CE-Elemetary K-5	\$90/DAY
Sandra McAllister	County	\$90/DAY
Tameka McCall	County	\$90/DAY
William McCall	County	\$90/DAY
Meredith McClain	County	\$90/DAY
Monique McFarland	County	\$90/DAY
Shaughn McNamara	County	\$90/DAY
Amelia Medina	County	\$90/DAY
Elaine Mesmer	Standard-School Nurse	\$105/DAY
MaryAnn Miller	County	\$90/DAY

Wayne Mingin	CE-Elementary K-5, Elem. w/SS Spec. 5-8	\$90/DAY
Emily Moore	CEAS-Elementary K-5, CE-TOSW/D	\$90/DAY
Jill Mossbrooks	County	\$90/DAY
Christina Murphy	County	\$90/DAY
Dominique Musso	County	\$90/DAY
Lucy Newsome	Standard-Preschool- 3 rd Grade	\$100/DAY
Jennifer Ohara	County	\$90/DAY
Ashley Padgett	County	\$90/DAY
Yolanda Palmer-Day	County	\$90/DAY
R. Michael Panichello	County	\$90/DAY
Deana Parker	County	\$90/DAY
Marguerite Parker	Standard-Elementary	\$100/DAY
James Parrish	County	\$90/DAY
Stella Perry	Standard-Elementary	\$100/DAY
John Pettit	Standard-Health/PE, Drivers Ed.	\$100/DAY
Adrian Petway	CE-Elementary K-5	\$90/DAY
Ja'Quanda Pierce	County	\$90/DAY
Paul Powell	County	\$90/DAY
Maribeth Propert	CEAS-Elementary K-5	\$90/DAY
Kevin Quigley	County	\$90/DAY
Judith Quinn	Standard-English, Standard-French	\$100/DAY
Yvonne Rainner	County	\$90/DAY
Maria Ricci	County	\$90/DAY
Chelsi Riley	CEAS – Elementary K-5	\$90/DAY
Martha Rivera	County	\$90/DAY
Marjorie Robinson	Standard-Elementary	\$100/DAY
Laury Rosado	CE-Elementary K-5, Elem. w/LAL Spec.5-8	\$90/DAY
Joe Rozier	County	\$90/DAY
Esteban Ruiz Ramirez	County	\$90/DAY
Maria Sabio	County	\$90/DAY
Mary Scafe	County	\$90/DAY
Lauren Schaffer	CEAS-Elementary K-5	\$90/DAY
Yonnie Schaffer	County	\$90/DAY
Dora Scurry	County	\$90/DAY
Shirley Shaw	Standard-Elementary Std-Preschool-3 rd Grade	\$100/DAY
Richard Shull	County & RN	\$100/DAY
Richard Shull	County	\$90/DAY
Denishia Simpson	County	\$90/DAY
Jacoya Simpson	County	\$90/DAY
Taylor Slade-Mihalecz	County	\$90/DAY
Joya Slater	County	\$90/DAY

Diajuana Spencer	County	\$90/DAY
Judy Stanford	CE-Preschool – 3 rd Grade	\$90/DAY
Natasha Stewart	County	\$90/DAY
James Storm	County	\$90/DAY
Claudia Strickland	County	\$90/DAY
Domoquet Taylor	County	\$90/DAY
Susan Tigro	County	\$90/DAY
Ashley Timmons	CE-Elementary K-5, Elem. w/Math Spec. 5-8	\$90/DAY
Anthony Torres	County	\$90/DAY
Raphael Trenado	County	\$90/DAY
MaryAnn Valentine	Standard-Elementary, Tch. Of Handicapped	\$100/DAY
Sonia Villot	County	\$90/DAY
Al'Asia Wallace	County	\$90/DAY
Dyeisha Wallace	County	\$90/DAY
Shonta Washington	County	\$90/DAY
Michael Webb	Standard-Preschool-3 rd Grade	\$100/DAY
Karen Weir	Standard-Nursery, Elementary	\$100/DAY
Audrey Weldon	County	\$90/DAY
Reid Westergaard	Standard-Elementary & Teacher of Music	\$100/DAY
Barbara Wheaton	Standard-Social Studies	\$100/DAY
Earnestyne Williams	County	\$90/DAY
Elouise Williams	Standard-Teacher of the Handicapped	\$100/DAY
Terry Williams	CE-Preschool through 3rd	\$90/DAY
Karen Wuzzardo	County & RN	\$100/DAY
Meredith Wuzzardo	County	\$90/DAY
Sherri Yellin	County	\$90/DAY
Kimberly Zebley	County	\$90/DAY

SUBSTITUTE PRINCIPAL				
NAME		RATE		
J. Michael Coyne	Standard-Principal/Supervisor	\$250/DAY		
James Dunkins	Standard-School Administrator, Supervisor	\$250/DAY		
Mary Ann Russell	Standard-Principal/Supervisor	\$250/DAY		

FULL-TIME AIDES WITH CERTIFICATES				
NAME		RATE		
Jose Andon	County	\$35/DAY		
Shyron Bailey	County (Coach)	N/A		
Linda Ballinger	County	\$35/DAY		
Carmen Beltran	County	\$35/DAY		
Christina Beltran	County	\$35/DAY		
Maribel Bermejo	County	\$35/DAY		
Terri Carlaw	County	\$35/DAY		
Audrey Carter	County (Coach)	N/A		
Warren DeShields	County (Coach)	N/A		
Elia Figueroa	County	\$35/DAY		
Elsie Figueroa	County	\$35/DAY		
Jill Fleetwood	County	\$35/DAY		
Linda Fortescue	County	\$35/DAY		
Christal Griner	County	\$35/DAY		
Audrey Gunter	County	\$35/DAY		
Danielle Guy	County	\$35/DAY		
Vivian Henry	County	\$35/DAY		
Melissa Kellen	County	\$35/DAY		
Christina Knerr	County	\$35/DAY		
Steven Lane, Jr.	County	\$35/DAY		
Denisse Lebron-Rivera	County	\$35/DAY		
Roche Lewis	County	\$35/DAY		
Gladys Lugardo-Hemple	County	\$35/DAY		
Maria Mendoza-Rodriguez	County	\$35/DAY		
Lori Anne Merritt	County	\$35/DAY		
Marian Mobley	County	\$35/DAY		
Luz Moran	County	\$35/DAY		
Sheila Ohara	County	\$35/DAY		
Roselee Papiano	County	\$35/DAY		
Nelia Parisi	CE-P-3	\$35/DAY		
Iris Santiago	County	\$35/DAY		
Daniel Singletary	County	\$35/DAY		
Osco Williams	County (Coach)	N/A		
Heather Zoyac	CE-Elementary K-5	\$35/DAY		

Item 4.4.3 *Approval of Staff Extended Day Programs for 2013-2014 School Year

Approved the following staff for the previously approved extended day GEMS Program at West Avenue School for the 2013-2014 school year. The program will run from November 11, 2013 through May 8, 2014. Account # 15-421-100-100-00-07.

Name	Club	Position	Salary/Hr	Hours	Weeks	Total
Lisa Heisroth	GEMS Gr. 3-4	Teacher	\$27.00	2	22	\$1188.00
Erin Branch	GEMS Gr. 5-8	Teacher	\$27.00	3	22	\$1782.00

Item 4.4.4 *Ratification of Rescission from Previously Approved Summer Program

Ratified the rescission of Ms. Eilanete Brissett as an Instructional Aide for the Summer Title I Program at Quarter Mile Lane school, due to declination effective, June 13, 2013.

Item 4.4.5 *Approval of Staff for 2013 Summer Transportation

Approved the following bus aides for the previously approved 2013 Summer Programs that requires transportation, effective July 2013 through August 2013. Account # 20-238-200-110-02-40, 11-000-270-162-00-25, 20-236-200-110-00-40,

20-457-200-110-01-40, 20-251-200-110-00-40, 20-250-200-110-00-40and 20-464-200-110-00-40.

Name	Position	Salary/Hr	Hours
Gladys Birdsall	Bus Aide	\$12.21	As needed
Barbara Pierce	Bus Aide	\$11.41	As needed
Tara Pennington	Bus Aide	\$12.21	As needed
Linda Tiggett	Bus Aide	\$12.21	As needed

Item 4.4.6 *Ratification of Previously Approved Summer Programs

Ratified the following staff for the previously approved 2013 Title I program at Quarter Mile Lane School from 9:00 a.m. to 1:00 p.m. on July 1, 2013 through July 30, 2013. Account # 20-238-100-101-00-40, 20-237-200-110-96-81, 20-457-100-106-00-40 and 20-238-100-106-00-40.

Name	Position	Salary/Hr	Hours	Days	Total
Elaine Mesmer	Title I Nurse	\$30.00 per hr	4	20	\$2400.00

Item 4.4.7 a-d *Approval of Summer Curriculum Writing

a. Approved the following staff for the previously approved Summer Curriculum Writing for Bilingual K-8 (Spanish Language Arts Literacy) to work the program starting on July 22, 2013 through August 2, 2013 at West Ave and work days will be Monday through Friday. Account # 20-240-200-100-00-40.

Name	Position/Location	Salary/Hr	Hours	Days	Total
Sally Pierce	ESL Teacher	\$27.00	6	10	\$1620.00

b. Approved the following staff for the previously approved Summer Curriculum Writing for Bilingual K-8(Spanish Language Arts Literacy) to work additional hours to complete curriculum writing to include Core Standards for Language Arts and updated WIDA English Language Development Standards. The Program will start on July 22, 2013 through August 2, 2013 at West Ave and work days will be Monday through Friday. Account # 20-240-200-100-00-40.

Name	Position/Location	Salary/Hr	Hours	Days	Total
Carmen Collins	Bilingual Teacher	\$27.00	6	2	\$324.00
Sugiel Colon	Bilingual Teacher	\$27.00	6	2	\$324.00
Arlene Ortiz	Bilingual Teacher	\$30.00	6	2	\$360.00

c. Approved the following staff for the previously approved Summer Curriculum Writing for ESL Grades 9-12 for ESL Comp. I/ESL Lit. I, ESL Comp. II/ESL Lit. II, ESL Comp. III/ESL Lit. III and ESL Comp. IV/Lit. IV to work additional hours to complete curriculum writing to include Core Standards for Language Arts and updated WIDA English Language Development Standards. The program will now run Monday through Friday July 8, 2013 through August 2, 2013 at BHS. Account # 20-240-200-100-00-40.

Name	Position/Location	Salary/Hr	Hours	Days	Total
Robert Wisniewski	ESL Teacher	\$30.00 p/h	6	4	\$720.00
Daniel Simmons	English Teacher	\$30.00 p/h	6	4	\$720.00
Megan Donaghy	Special Education	\$30.00 p/h	6	4	\$720.00
	Teacher				

d. Approved the following staff for the previously approved Summer Curriculum Writing for ESL Grades 9-12 for ESL Comp. I/ESL Lit. I, ESL Comp. II/ESL Lit. II, ESL Comp. III/ESL Lit. III and ESL Comp. IV/Lit. IV to work additional hours to complete curriculum writing to include Core Standards for Language Arts and updated WIDA English Language Development Standards. The program will now run Monday through Friday July 22, 2013 through August 2, 2013 at BHS. Account # 20-240-200-100-00-40.

Name	Position/Location	Salary/Hr	Hours	Days	Total
Donna Chance	ESL Teacher	\$30.00 p/h	6	2	\$360.00
Christopher Ney	English Teacher	\$27.00 p/h	6	2	\$324.00
Christine Queripel	ESL Teacher	\$27.00 p/h	6	2	\$324.00

Item 4.4.8 a-e *Approval of Staff for Summer Training

a. Approved the following Indian Avenue School Staff to attend RAC Summer Institute Preparing for PARCC at Stockton State College on August 13, 14 and 15, 2013from 8:30 a.m. to 3:30 p.m. Account # 20-238-200-110-04-40.

Name	Position	Salary/Hr/Day	Hours	Days	Total
Jennifer Garwood	Master Teacher	\$27.00/hr	6	3	\$486.00
Mary Anne Keyes	Master Teacher	\$30.00/hr	6	3	\$540.00
Olga Rivera	Asst. Principal	\$452.74 per day	6	3	\$1338.22

b. Approved the following Broad Street School Staff to attend RAC Region 7 Preparing for PARCC Professional Development Academy at Stockton College, on August 13, 14 and 15, 2013 from 8:00 a.m. to 3:30 p.m. Account # 20-238-200-110-04-40.

Name	Position	Salary/Hr/Day	Hours	Days	Total
Rebecca Guess	Principal	Contracted	6	3	N/A
Kimberly Porch	Asst. Principal	Contracted	6	3	N/A
Karl Brown	Asst. Principal	\$417.77 per day	6	3	\$1253.31
Alesha Taylor	Asst. Principal	\$396.18 per day	6	3	\$1188.54
Linda Santiago	Master Teacher	\$27.00/hr	6	3	\$486.00
James Backman	Master Teacher	\$30.00/hr	6	3	\$540.00

c. Approved the following Broad Street Staff for the previously approve Summer Professional Development/Training at Broad Street School from August 19, 2013 through August 22, 2013 and August 27, 2013 through August 29, 2013. Account # 20-237-200-110-04-40.

August 19, 2013 Interactive White Board Training w/SMART Board				
Name	Position	Salary/Hr	Hours	Total
Mary Jane Feaster	Teacher	\$27.00	5	\$135.00
Stan Kryszczak	Teacher	\$30.00	5	\$150.00
Danielle Wilson	Teacher	\$30.00	5	\$150.00
Jennifer Conner	Teacher	\$27.00	5	\$135.00
Leah Taylor	Teacher	\$30.00	5	\$150.00
Jennifer Marshall	Teacher	\$27.00	5	\$135.00
Sheri Cummines	Teacher	\$30.00	5	\$150.00
Dr. Anne Marie Pai	Teacher	\$33.00	5	\$165.00
Jillian Maroney	Teacher	\$27.00	5	\$135.00
Erin Sager	Teacher	\$27.00	5	\$135.00
Sally Pierce	Teacher	\$27.00	5	\$135.00
Elizabeth Beebe	Teacher/Presenter	\$27.00	6.5	\$175.50

August 19, 2013 Interactive White Board Training w/Bright Link

			T	1
Name	Position	Salary/Hr	Hours	Total
Jennifer Ayars	Teacher	\$27.00	5	\$135.00
Marie Teti	Teacher	\$27.00	5	\$135.00
Sharon Pinkerton	Teacher	\$30.00	5	\$150.00
Joseph Burger	Teacher	\$30.00	5	\$150.00
Maureen McCloud	Teacher	\$27.00	5	\$135.00
Lori Juhasz	Teacher	\$27.00	5	\$135.00
Fabiana Taberna	Teacher	\$27.00	5	\$135.00
Florinda Monje	Teacher	\$27.00	5	\$135.00
Alicia Vagnarelli	Teacher	\$27.00	5	\$135.00
Christina Nickle	Teacher/Presenter	\$27.00	6.5	\$175.50

11077 July 9, 2013

		•	July 2, 2013	
Augus	t 20, 2013 Interactive Wh	ite Board Training	w/SMART Board	I
Name	Position	Salary/Hr	Hours	Total
Vicki Andrews	Teacher	\$27.00	5	\$135.00
Jennifer Ayars	Teacher	\$27.00	5	\$135.00
Marie Teti	Teacher	\$27.00	5	\$135.00
Dr. Tiffanie ThrBak	Teacher	\$33.00	5	\$165.00
Amy Repp	Teacher	\$27.00	5	\$135.00
Kathleen Fallon	Teacher	\$27.00	5	\$135.00
Fabiana Taberna	Teacher	\$27.00	5	\$135.00
Florinda Monje	Teacher	\$27.00	5	\$135.00
Jennifer Lane	Teacher	\$27.00	5	\$135.00
Elizabeth Beebe	Teacher/Presenter	\$27.00	6.5	\$175.50
Augi	ust 20, 2013 Interactive W	hite Board Trainin	g w/Bright Link	
Name	Position	Salary/Hr	Hours	Total
Liz Medina	Teacher	\$27.00	5	\$135.00

Name	Position	Salary/Hr	Hours	Total
Liz Medina	Teacher	\$27.00	5	\$135.00
Diana Rivera	Teacher	\$27.00	5	\$135.00
Peggy Minervini	Teacher	\$27.00	5	\$135.00
Eileen Morales	Teacher	\$27.00	5	\$135.00
Stan Kryszczak	Teacher	\$30.00	5	\$150.00
Nicole Carminati	Teacher	\$30.00	5	\$150.00
Danielle Wilson	Teacher	\$30.00	5	\$150.00
Leah Taylor	Teacher	\$30.00	5	\$150.00
Christina Wroblewski	Teacher	\$27.00	5	\$135.00
Robert Fink	Tech Coordinator	\$27.00	5	\$135.00
Christina Nickle	Teacher/Presenter	\$27.00	6.5	\$175.50

August 20, 2013 Implementation of Model Curriculum /SLO Planning Grades 7/8

Name	Position	Salary/Hr	Hours	Total
Dr. Anne Marie Pai	Teacher	\$33.00	5	\$165.00
Jillian Maroney	Teacher	\$27.00	5	\$135.00
Heather Camlin	Teacher	\$27.00	5	\$135.00
Sally Pierce	Teacher	\$27.00	5	\$135.00
Christine MacFarland	Teacher	\$27.00	5	\$135.00
Jennifer Conner	Teacher	\$27.00	5	\$135.00
Sharon Pinkerton	Teacher	\$30.00	5	\$150.00
Linda Santiago	Teacher/Presenter	\$27.00	6.5	\$175.50
James Backman	Teacher/Presenter	\$30.00	6.5	\$195.00
Marguerite Bennett	Teacher/Presenter	\$27.00	6.5	\$175.50

11078 July 9, 2013

5

5

5

5

\$135.00

\$135.00

\$135.00

\$135.00

July 9, 2013 August 21, 2013 Implementation of Model Curriculum /SLO Planning Utilizing GO Math Gr. K-2				
Name	Position	Salary/Hr	Hours	Total
Jennifer Johnson	Teacher	\$27.00	5	\$135.00
Patricia Talavera	Teacher	\$27.00	5	\$135.00
Peggy Minervini	Teacher	\$27.00	5	\$135.00
Eileen Morales	Teacher	\$27.00	5	\$135.00
Vicki Andrews	Teacher	\$27.00	5	\$135.00
Nicole Carminati	Teacher	\$30.00	5	\$150.00
Dana Nelson	Teacher	\$27.00	5	\$135.00
Danielle Wilson	Teacher	\$30.00	5	\$150.00
Barbara Berkley	Teacher	\$30.00	5	\$150.00
Nina D'Amato	Teacher	\$27.00	5	\$135.00
Maria Mendez	Teacher	\$30.00	5	\$135.00
Amy Repp	Teacher	\$27.00	5	\$135.00
Ana Ramos	Teacher	\$27.00	5	\$135.00
Jennifer Lane	Teacher	\$27.00	5	\$135.00
Melanie Garofolo	Teacher	\$27.00	5	\$135.00
Robert Fink	Tech Coordinator	\$27.00	5	\$135.00
Marguerite Bennett	Teacher/Presenter	\$27.00	6.5	\$175.50
James Backman	Teacher/Presenter	\$30.00	6.5	\$195.00
August 21, 2013 Im	plementation of Model C	Curriculum /SLO Pla	anning Language	e Arts Gr. 3-6
Name	Position	Salary/Hr	Hours	Total
Mary Jane Feaster	Teacher	\$27.00	5	\$135.00
Leah Taylor	Teacher	\$30.00	5	\$150.00
Sally Pierce	Teacher	\$27.00	5	\$135.00
Sheri Cummines	Teacher	\$30.00	5	\$150.00
Dr. Anne Marie Pai	Teacher	\$33.00	5	\$165.00
Elizabeth Beebe	Teacher	\$27.00	5	\$135.00
Christina Wroblewski	Teacher	\$27.00	5	\$135.00
Alicia Vagnarelli	Teacher	\$27.00	5	\$135.00
Jael Leise	Teacher	\$30.00	5	\$150.00
Lisa Early	Teacher	\$27.00	5	\$135.00
Linda Santiago	Teacher/Presenter	\$27.00	6.5	\$175.50
<u> </u>	1, 2013 Interactive Whit	e Board w/Response	System Grade 6	
Name	Position	Salary/Hr	Hours	Total
Liz Medina	Teacher	\$27.00	5	\$135.00
T:C A	T 1	\$27.00		0125.00

\$27.00

\$27.00

\$27.00

\$27.00

Teacher

Teacher

Teacher

Teacher

Jennifer Ayars

Marie Teti
Jennifer Conner

Sally Pierce

11079 July 9, 2013

Jennifer Marshall	Teacher	\$27.00	5	\$135.00
Sharon Pinkerton	Teacher	\$30.00	5	\$150.00
Jillian Maroney	Teacher	\$27.00	5	\$135.00
Erin Sager	Teacher	\$27.00	5	\$135.00
Dr. Tiffanie ThrBak	Teacher	\$33.00	5	\$165.00
Peris Oribabor	Teacher	\$30.00	5	\$150.00
Shawn Bridges	Teacher	\$30.00	5	\$150.00
Kathleen Fallon	Teacher	\$27.00	5	\$135.00
Camilo Serrano	Teacher/Presenter	\$27.00	6.5	\$175.50

August 22, 2013 Implementation of Model Curriculum /SLO Planning Language Arts Gr. K-2

Name	Position	Salary/Hr	Hours	Total
Jennifer Johnson	Teacher	\$27.00	5	\$135.00
Patricia Talavera	Teacher	\$27.00	5	\$135.00
Peggy Minervini	Teacher	\$27.00	5	\$135.00
Eileen Morales	Teacher	\$27.00	5	\$135.00
Vicki Andrews	Teacher	\$27.00	5	\$135.00
Nicole Carminati	Teacher	\$30.00	5	\$150.00
Dana Nelson	Teacher	\$27.00	5	\$135.00
Amy Repp	Teacher	\$27.00	5	\$135.00
Ana Ramos	Teacher	\$27.00	5	\$135.00
Jennifer Lane	Teacher	\$27.00	5	\$135.00
Barbara Berkley	Teacher	\$30.00	5	\$150.00
Linda Santiago	Teacher/Presenter	\$27.00	6.5	\$175.50

August 22, 2013 Implementation of Model Curriculum /SLO Utilizing GO Math Gr. 3-6

Name	Position	Salary/Hr	Hours	Total
Liz Medina	Teacher	\$27.00	5	\$135.00
Mary Jane Feaster	Teacher	\$27.00	5	\$135.00
Diana Rivera	Teacher	\$27.00	5	\$135.00
Leah Taylor	Teacher	\$30.00	5	\$150.00
Sally Pierce	Teacher	\$27.00	5	\$135.00
Jennifer Marshall	Teacher	\$27.00	5	\$135.00
Dr. Ann Marie Pai	Teacher	\$33.00	5	\$165.00
Peris Oribabor	Teacher	\$30.00	5	\$150.00
Maureen McCloud	Teacher	\$27.00	5	\$150.00
Kathleen Fallon	Teacher	\$27.00	5	\$150.00
Elizabeth Beebe	Teacher	\$27.00	5	\$135.00
Jael Leise	Teacher	\$30.00	5	\$150.00
Kourtney Kristovich	Teacher	\$27.00	5	\$175.50
Christina Wroblewski	Teacher	\$27.00	5	\$135.00
Alicia Vagnarelli	Teacher	\$27.00	5	\$135.00
Lisa Early	Teacher	\$27.00	5	\$135.00

Robert Fink	Tech Coordinator	\$27.00	5	\$135.00
James Backman	Teacher/Presenter	\$30.00	6.5	\$195.00
Marguerite Bennett	Teacher/Presenter	\$27.00	6.5	\$175.50

August 27-28-29, 2013 The Daily 5: Fostering Literacy Independence in the Elementary Grades

Name	Position	Salary/Hr	Hours	Total
Mary Jane Feaster	Teacher	\$27.00	15	\$405.00
Kristi Schoppe	Teacher	\$30.00	15	\$450.00
Maria Mendez	Teacher	\$30.00	15	\$450.00
Patricia Talavera	Teacher	\$27.00	15	\$405.00
Kristi Berry	Teacher	\$30.00	15	\$450.00
Barbara Berkley	Teacher	\$30.00	15	\$450.00
Vicki Andrews	Teacher	\$27.00	15	\$405.00
Eileen Morales	Teacher	\$27.00	15	\$405.00
Mary Shepherdson	Teacher	\$27.00	15	\$405.00
Dana Nelson	Teacher	\$27.00	15	\$405.00
Jennifer Johnson	Teacher	\$27.00	15	\$405.00
Lisa Early	Teacher	\$27.00	15	\$405.00
Nicole Carminati	Teacher	\$30.00	15	\$450.00
Peggy Minervini	Teacher	\$27.00	15	\$405.00
Jeanine Macchia	Teacher	\$30.00	15	\$450.00
Linda Santiago	Teacher/Presenter	\$27.00	19.5	\$526.50

d. Approved the following staff for the previously approved AP US History Teacher Training 2013 to be held at Kingsway Regional High School, effective July 22, 2013 through July 25, 2013. Account # 20-470-200-340-00-40.

Name	Position	Salary/Hr	Hours	Total
Marie Amendt-Smith	Teacher	\$27.00	30	\$810.00
Melanie Pudelko	Teacher	\$27.00	30	\$810.00

e. Approved the following staff for the previously approved Summer Curriculum Writing 2013–Develop curriculum guide for the new math program GO Math Grades K-6. This will take place during the summer of 2013 at Bank Street Administration Building in Conference Room B from July 10, 2013 through July 18, 2013 from Monday through Thursday. Account# 20-238-200-100-00-40.

Name	Position/Location	Salary/Hr	Hours	Total
Maureen McCloud	Teacher	\$27.00	36	\$972.00

Item 4.4.9 a-b *Approval of Stipends for Attending Previously Approved SGOs and Assessment Training

a. Approved the following staff members to be paid stipends for attending the Preparing for Teachers and Principals Evaluation: SGOs and Assessment Trainings on July 29, 2013 and July 31, 2013 or August 19, 2013 and August 21, 2013. Account # 20-271-200-100-00-40.

Name	Position	Salary/Hr	Hours	Days	Total
Christina Nickle	Teacher- Broad	\$27.00	6	2	\$324.00
Mary Shepherdson	Teacher- Broad	\$27.00	6	2	\$324.00

11081 July 9, 2013

Heidi Dugan	Teacher- Broad	\$27.00	6	2	\$324.00
Shawn Bridges	Teacher- Broad	\$30.00	6	2	\$360.00
Jeanine Macchia	Teacher- Broad	\$30.00	6	2	\$360.00
Wendy Williams	Teacher- Buck	\$27.00	6	2	\$324.00
Wanda Carr	Teacher- Buck	\$27.00	6	2	\$324.00
Tania Trethan	Teacher- Buck	\$30.00	6	2	\$360.00
Ivelisse Cuevas	Teacher- Buck	\$27.00	6	2	\$324.00
Romaine Street	Teacher- Buck	\$30.00	6	2	\$360.00
Debbi Harris	Teacher- Cherry	\$27.00	6	2	\$324.00
Charlene Gunter	Teacher- GOFECC	\$27.00	6	2	\$324.00
Isolde Waddington	Teacher- Indian	\$27.00	6	2	\$324.00
Jennifer Garwood	Teacher- Indian	\$27.00	6	2	\$324.00
Fran Ferrara	Teacher- Indian	\$27.00	6	2	\$324.00
Pamela Doughty	Teacher- QML	\$27.00	6	2	\$324.00
Reba Steiner	Teacher- West	\$27.00	6	2	\$324.00
Thomas Meyers	Teacher – Indian	\$30.00	6	2	\$360.00
Deidre Montgomery	Teacher- Cherry	\$27.00	6	2	\$324.00
Karli Fratz	Teacher - BHS	\$30.00	6	2	\$360.00
Maryann Keyes	Teacher – Indian	\$30.00	6	2	\$360.00
Monica Moyer	Teacher- Cherry	\$30.00	6	2	\$360.00
Sterling Rainier	Teacher- Cherry	\$27.00	6	2	\$324.00
Taja Board	Teacher – Cherry	\$27.00	6	2	\$324.00
Maurice DeShields	Teacher – Cherry	\$27.00	6	2	\$324.00

b. Approved the following staff members to be paid stipends for Implement Connected Action Roadmap (CAR) Training on August 5, 2013, August 6, 2013 and August 12, 2013 to train staff "How to "unpack" the Standards – Training" for CCSS infusion and PLC implementation. Account # 20-238-200-110-04-40.

Name	Position	Salary/Hr/Day	Hours	Days	TOTAL
Rebecca Bauer	Teacher	\$27.00 hr	5	3	\$405.00
Mary Bentz	Teacher	\$27.00 hr	5	3	\$405.00
Lisa Brooks	Teacher	\$27.00 hr	5	3	\$405.00
Diana Cintron	Teacher	\$27.00 hr	5	3	\$405.00
Christi Dudzieck	Teacher	\$30.00 hr	5	3	\$450.00
Alice Exel	Teacher	\$27.00 hr	5	3	\$405.00
Rebecca Franklin	Teacher	\$27.00 hr	5	3	\$405.00
Jennifer Garwood	Teacher	\$27.00 hr	5	3	\$405.00
Heather Goraj	Teacher	\$27.00 hr	5	3	\$405.00
Kirsten Guidry	Teacher	\$27.00 hr	5	3	\$405.00
Mary Anne Keyes	Teacher	\$30.00 hr	5	3	\$450.00
Donna Koscianski	Teacher	\$30.00 hr	5	3	\$450.00
Robin MacDade	Teacher	\$30.00 hr	5	3	\$450.00
Janet Matheussen	Teacher	\$27.00 hr	5	3	\$405.00
Tracy McEneaney	Teacher	\$27.00 hr	5	3	\$405.00

Mark Raybould	Teacher	\$30.00 hr	5	3	\$450.00
Lillian Reeves	Teacher	\$27.00 hr	5	3	\$405.00
	Asst.	\$452.74 daily	5	3	
Olga Rivera	Principal				\$1338.22
Hilda Romero	Teacher	\$27.00 hr	5	3	\$405.00
Isolde Waddington	Teacher	\$27.00 hr	5	3	\$405.00
Mary Walther	Teacher	\$27.00 hr	5	3	\$405.00
	Asst.	\$379.68 daily	5	3	\$1139.04
Shanell Maddrey	Principal				
Danielle Gratz	Teacher	\$27.00 hr	5	3	\$405.00
Yelixa Figueroa	Teacher	\$27.00 hr	5	3	\$405.00
Susan Reynolds	Teacher	\$27.00 hr	5	3	\$405.00
Jaclyn Hall	Teacher	\$27.00 hr	5	3	\$405.00
Deidre	Teacher	\$27.00 hr	5	3	\$405.00
Montgomery					
Tracey Schaper	Teacher	\$27.00 hr	5	3	\$405.00
Martina Morris	Teacher	\$27.00 hr	5	3	\$405.00
Sterling Rainier	Teacher	\$27.00 hr	5	3	\$405.00

Item 4.4.10 a-b *Ratification of Summer Hours

a. Ratified summer hours for the following staff member to work at Bridgeton High School from July 1, 2013 through August 30, 2013. The staff member will complete paper work and conduct sports physicals for the upcoming 2013-2014 school year. Account # 11-401-100-100-00-01.

Name	Position	Salary/Hr	Hours	Total
Kathy Pentecost	School Nurse	\$27.00	Up to 37 hours	Not to exceed \$1000.00

b. Ratified summer hours for the following Educational Enforcement Officers to rotate as floaters securing all buildings operating summer programs, relieving other officers as needed and distributing mail throughout the district during summer months from July 1, 2013 through August 23, 2013. Account # 11-000-266-110-01-01.

Name	Position	Salary/Hr	Hours	Dates	Total
Matthew Phillips	EEO	\$23.25	5	7/1/13 - 8/2/13	\$2906.25
Eric Bailey	EEO	\$23.25	5	8/5/13 - 8/23/13	\$1743.75

Item 4.4.11 a-c *Approval of Summer Hours

a. Approved summer hours for the following Bridgeton High School Guidance Counselor to work on schedules, course selection, new students and summer school counseling. Account # 15-000-218-104-01-02, 15-000-222-177-35-02, 15-000-211-171-00-02 and 15-000-218-105-00-02.

Name	Position	Salary	Hours	Total
Boni Kane	Substitute Counselor	\$30.00	7	As needed

b. Approved summer hours for Broad Street Master Teachers to analyze SAMs Data, Set-Up Guided Reading, Book Room, District SLO Math, LA Materials and PD for the 2013-2014 school year. Dates to be determined. Account # 20-238-100-101-03-81 CO.

Name	Position	Salary/Hr	Hours	Days	Total
James Backman	Master Teacher	\$30.00	5	5	\$750.00
Marguerite Bennett	Master Teacher	\$27.00	5	5	\$675.00
Linda Santiago	Master Teacher	\$27.00	5	5	\$675.00

c. Approved the following payroll managers to work overtime to do retroactive payments, pension reporting and rollover of salaries, not to exceed three days.

Name	Salary/Day
Lynne Buirch, Payroll Manager	\$200.00 per day
Janine Watty, Payroll Manager	\$146.54 per day

Item 4.4.12 *Approval of Extra Contracts

Approved the following extra contracts for the 2013-2014 school year:

Name	Position	Rate	Account #
Linda Cervini	Head Nurse	\$2104.00	11-401-100-100-00-01
Martina Morris	Cherry Yearbook Co-Advisor	\$256.00	11-401-100-100-00-01
Taja Board	Cherry Yearbook Co-Advisor	\$256.00	11-401-100-100-00-01
Maurice DeShields	Cherry Honor Society Advisor	\$512.00	11-401-100-100-00-01
Jaclyn Hall	Cherry Student Government Advisor	\$512.00	11-401-100-100-00-01
Sherman Denby	Cherry Science Fair Advisor	\$512.00	11-401-100-100-00-01
Sherman Denby	Cherry 8 th Grade Co-Advisor	\$256.00	11-401-100-100-00-01
Deidre Montgomery	Cherry 8 th Grade Co-Advisor	\$256.00	11-401-100-100-00-01
Gloria Cooper	West Honor Society Advisor	\$512.00	11-401-100-100-00-01
Laurie Buirch	Broad Street Yearbook Advisor	\$1021.00	11-401-100-100-00-01
Shawn Bridges	Broad 8 th Grade Advisor	\$1021.00	11-401-100-100-00-01
Jillian Maroney	Broad Honor Society Advisor	\$510.50	11-401-100-100-00-01
Raina Cullen	Broad Honor Society Advisor	\$510.50	11-401-100-100-00-01
Timothy Zoyac	Broad Student Government	\$510.50	11-401-100-100-00-01
	Co-Advisor		
Shawn Bridges	Broad Student Government	\$510.50	11-401-100-100-00-01
	Co-Advisor		
Erin Sager	Broad Science Fair Co-Advisor	\$510.50	11-401-100-100-00-01
Charlene Hodinka	Broad Science Fair Co-Advisor	\$510.50	11-401-100-100-00-01
Sean Fallon	West Avenue Student Government	\$512.00	11-401-100-100-00-01
	Advisor		
Caroline Cornelius	Quarter Mile Student Government	\$512.00	11-401-100-100-00-01
	Advisor		
Thomas Masucci	Boys' Head Soccer Coach	\$6121.00	11-402-100-100-00-01
Trisha Fusco Dennis	Makeup Advisor	\$351.00	11-401-100-100-00-01
Lauren Nicosia	All-City Select Band Director	\$1,407.00	11-401-100-100-00-01
Lauren Nicosia	Assistant Band Director	\$3830.00	11-401-100-100-00-01
Matthew Brenner	Band Camp Director	\$2864.00	11-401-100-100-00-01
Lauren Nicosia	Assistant Band Camp Director	\$1719.00	11-401-100-100-00-01

R. Michael Panichello	Band Drill Instructor	\$2580.00	11-401-100-100-00-01
R. Michael Panichello	Band Camp Drill Instructor	\$1669.00	11-401-100-100-00-01
Mark Raybould	Indian Science Fair Advisor	\$512.00	11-401-100-100-00-01
Mark Raybould	Indian Honor Society Advisor	\$512.00	11-401-100-100-00-01
Miguel Lopez	Latin American Club	\$512.00	11-401-100-100-00-01
Kathleen Sharp	Quarter Mile Science Fair Advisor	\$512.00	11-401-100-100-00-01
Deidra Bowen	Double Dutch Club Advisor	\$512.00	11-401-100-100-00-01
Amanda Nnachetam	Leo Club	\$512.00	11-401-100-100-00-01
Isaias Garza	ExCEL Head Teacher	\$1340.00	11-401-100-100-00-01
Michael Totino	ExCEL Science Fair Advisor	\$512.00	11-401-100-100-00-01

Item 4.4.13 *Approval of Home Instructor

Approved the following Home Instructors to work the Home Instruction Program for the 2013-2014 school year. Acct. #11-219-100-101-00-18 and 11-150-100-101-00-18.

Name	Salary/Hr
Ernest Deionne ThrBak	\$30.00

<u>Item 5.1.1</u>

*Approval of Bills June 2013

Approved the June bills to be paid as follows:

\$ 1,367.24
\$ 879,838.96
\$ 121,387.80
\$ 140,783.71
\$ 406,740.94
5
306,919.91
\$1,424,054.68
5 5,769,643.92
9,050,737.16

Item 5.1.2 a-b *Approval of Financial Reports

- a. Approved the May and June Treasurer's Reports for the 2012-2013 school year.
- b. Approved the May and June Board Secretary's Report for the 2012-2013 school year.

<u>Item 5.1.3</u> *Approval of Board Secretary's Certification

Approved the Board Secretary's Monthly Certification of Budgetary Status for May and June.

I certify that as of May 31, 2013 and June 30, 2013 no major budgetary account or fund has been over-expended.

Nicole M. Schoener, Board Secretary

Date:

Item 5.1.4 *Approval of Certification of Major Account/Fund Status

Approved the Board of Education's Monthly Certification of Major Account/Fund Status. We certify that as of May 31, 2013 and June 30, 2013 after review of the secretary's monthly financial report (appropriations section) and upon consultation with the appropriate district officials that to the best of our knowledge no major account or fund has been over-expended and that sufficient funds are available for the remainder of the fiscal year.

Item 5.1.5 *Approval of 2012-2013 Tuition

Approved the tuitions listed for out of district placements. Yearly tuition amounts, tuition payments prorated.

Pineland Learning				
Start Date	#	Tuition	Account	
7/9/2013	18	\$46,440.00	11-000-100-566-00-01	
7/9/2013	19	\$46,440.00	11-000-100-566-00-01	
	SCSSSD	- Cumberland Ca	mpus	
Start Date	#	Tuition	Account	
7/9/2013	19	\$32,536.00	11-000-100-565-00-01	
7/9/2013	20	\$32,536.00	11-000-100-565-00-01	

Item 5.1.6 *Approval of Transfers

Approved budget transfers through May 31, 2013 for the 2012-2013 school year as attached.

<u>Item 5.1.7</u> *<u>Approval of Polling Places</u>

Approved the Special Primary Election on August 13, 2013 and Special General Election on October 16, 2013 to use Bank St., Quarter Mile Lane and Bridgeton High School as polling places from 5:00am to 8:00pm.

<u>Item 5.1.8</u> *<u>Approval of Change Order</u>

Approved the change order in the amount of \$5,049.50, Project #0103071.02 for Bridgeton High School Bleachers.

Item 5.1.9 *Approval of Amendment to TSA

Approved the Tax Shelter Annuity "403b" plan document in order to comply with updated IRS regulations. (Attached)

Item 5.1.10 *Approval of School Bus Emergency Evacuation Drill Report

Approved the emergency evacuation drill report for Broad Street School on June 6, 2013 from 7:44-8:31 AM in the school parking lot using route number 12,38,82,20,6,24,9,19,36,33,37,16,26,66 and 42 under the supervision of Alesha Taylor and Karl Brown, Assistant Principals.

Item 5.1.11 *Approval of the Annual Temporary Facility Approvals

Approved the annual acceptance of the application to the County Superintendent of Schools to use the following temporary facilities for the 2013-2014 school year.

398 Pearl Street- ExCel program – Educational Spaces

Broad Street School -Kindergarten Bathroom

Indian Avenue School – 3 Temporary Classroom Units and Kindergarten Bathroom

Quarter Mile Lane – 5 Temporary Classroom Units

Buckshutem Road School – 10 Temporary Classroom Units

Item 5.1.12 *Approval of 2013-2014 Provider Preschool Contracts

Approved submission of Provider Preschool Contracts as follows for the

2013-2014 school year:

Cheryl Chadwick Learning Center Remsterville Ferguson Toy Box

Glory Tabernacle Gateway Head Start

Miss Inez Upper Deerfield Preschool

Item 5.1.13 *Approval of Grant Termination

Approved the termination of the Bridgeton High School Success Grant effective May 3, 2013. Due to a medical emergency of personnel responsible for implementing the HSS grant, the Lead Education Agency, Cumberland Empowerment Zone seeks to terminate the contract with BPS. The contract was slated to begin February 13, 2013 until June 30, 2013. Payment would be made for the following:

February 13, 2013 – March 13, 2013 \$4,815 March 13, 2013-April 13, 2013 \$4815 April 13, 2013 – May 3, 2013 \$3611.25

Item 5.1.14 a-b *Approval of Grant Submission

- a. Approved the submission of the 2013-2014 New Jersey Child Assault Prevention Project (CAP) Grant. The New Jersey Child Assault Prevention Project (CAP) is a statewide prevention program whose mission is to provide schools and communities with information and resources to reduce children's vulnerability to assault.
- b. Approved the submission of the McKinney-Vento Education of Homeless Children and Youth Program Year 2of 3 grant application for the 2013-2014 School year. The allocation for 2013-2014 is \$258,133.

Item 5.1.15 *Approval of Deeds of Easement

Approved the Deeds of Easement between Craig & Jeanna Weber and Bridgeton Board of Education. (Attached)

Item 5.1.16 *Approval of Legal Services Contract

Approved the Legal services contract between Bridgeton Board of Education and Kevin P. McCann of Chance & McCann from June 1, 2013 through May 31, 2014. (Attached)

<u>Item 5.1.17</u> * <u>Approval of Waiver Application</u>

Approved the submission of the Geraldyn O. Foster Early Childhood Center waiver application in accordance with N.J.A.C. 6A:5. (attached)

Item 6.1.1 (a-d)

*Facility Usage

- a. Approved the request of Bridgeton Assembly of God Royal Rangers to use the Indian Ave. School all purpose room on Thursdays, August 29, 2013 to February 28, 2014 from 7:30pm to 9:00pm for youth gym activities. **Rental fees will be charged.** An appropriate insurance certificate is on file. Approval is granted contingent on the understanding that school activities take precedence. If a school facility is required for a school activity, board approval is revoked.
- b. Approved the request of BHS Class of 1963 Alumni Committee to tour the Bridgeton High School and Stadium on Saturday, December 10, 2013 from 10:00am to Noon. **Custodial fees will be charged**. Approval is granted contingent on the understanding that school activities take precedence. If a school facility is required for a school activity, board approval is revoked.
- c. Approved the Bridgeton Exchange program to use the BHS Media Center for monthly meetings the first Tuesday of every month September –June, 5:45pm to 8:00pm. **An appropriate insurance certificate is on file.** Approval is granted contingent on the understanding that school activities take precedence. If a school facility is required for a school activity, board approval is revoked.
- d. Approved the Bridgeton Assembly of God to use the Indian Ave. School parking lot on Saturday, July 20th from 10:00 am to 9:00pm for vehicle parking during church event. **An appropriate insurance certificate is on file.** Approval is granted contingent on the understanding that school activities take precedence. If a school facility is required for a school activity, board approval is revoked.

Motion by Mrs. Peterson, second by Mr. SmithBey approving the consent agenda. Motion carried, roll call vote was 7-0.

Item 7. Non-Consent Agenda

4.4.14 Approval of Non-Affiliate Contracts

Motion by Mrs. Peterson, second by Mr. Smith-Bey approving the non-affiliate salaries for the contract agreements for the period beginning July 1, 2012 and ending June 30, 2015 between the Bridgeton Board of Education and the individual staff member. Non-affiliate contracts are prepared for each school year reflecting the approved salary amounts for the three year period beginning July 1, 2012. Salaries will be paid retroactively and all other language changes will be effective July 1, 2013.

Motion carried, roll call vote was 7-0.

Item 8.OTHER BOARD ACTION: INFORMATION

8.1 Motion by Mrs. Peterson, second by Mr. SmithBey approving the Second Reading New Policy-Physical Management Documentation Form

Motion carried, roll call vote was 7-0.

Item 9.

9.1 Committee Reports

9.2 Executive Session -7:25PM

Motion by Mrs. Peterson, second by Mr. Williamson approving the following Resolution for Executive Session:

Whereas, Section 8 of the Open Public Meeting Act, Chapter 231 PL 1975, permits the exclusion of the public from a meeting in certain circumstances: and Whereas, this public body is of the opinion that such circumstances presently exist. NOW, THEREFORE, BE IT RESOLVED by the Board of Education of the City of Bridgeton, County of Cumberland, State of New Jersey, as follows:

- 1. The public shall be excluded from discussion of and action upon hereinafter specified subject matters.
- 2. The nature of the subject matters to be discussed is:
 - a. Negotiations
 - b. Discussion of Due Process Hearing
 - c. Litigation update for HVAC system
- 3. It is anticipated at this time that the above stated subject matters will be made public when appropriate.
- 4. This Resolution will take effect immediately.

RETURN TO THE PUBLIC

Motion by Mrs. Peterson, second by Mr. Williamson, approving the return to the public portion of the meeting at 8: 22 p.m.

Motion carried, roll call vote was 7-0.

1.11 ADJOURNMENT

Motion by Mrs. Peterson, second by Mr. SmithBey approving adjourning the meeting at 8:25 p.m.

Motion carried, roll call vote was 7-0.

Respectfully Submitted,

Nicole M. Schoener School Business Administrator

Executive Session Minutes July 9, 2013

The public action meeting of the Bridgeton Board of Education was called to order at 6:00 p.m. by Nicole Schoener. Board Members present were Mr. Albert Morgan, Ms. Barbara Taylor-Holmes, Mrs. Mary Peterson, Mrs. Marie Bernstein, Mrs. Brenda Dellaquilla, Mr. James Williamson, Mr. Curtis Edwards and Mr. Kenny Smith-Bey. Ms. Angelia Edwards was absent. Also in attendance were, Dr. Thomasina Jones, Superintendent, Mr. Kevin P. McCann, Board Solicitor, Mrs. Nicole M. Schoener, School Business Administrator and Mr. Nedd Johnson, Assistant Superintendent. Prayer was offered by Ms. Taylor Holmes.

Executive Session began at 7:25 pm.

Dr. Jones introduced a proposal for an off-site in school suspension program. She presented 2 different sites that could be negotiated to house these programs. (Grades 1-8). The 2 locations were the Alms center or with Gateway community action. She plans to transport them there and have instruction (computers, teachers, etc.) amount was proposed for Alms center, not yet for gateway.

Dr. Jones informed the Board that PCN #2430 employee is being transferred from Broad to Indian. Nicole Schoener, SBA explained that the health care reform act is postponed to 2015 but some staff Will have to be reviewed for total hours to see who exceeds 30 hrs. week.

RETURN TO THE PUBLIC

Motion by Mrs. Peterson, second by Mr. Williamson, approving the return to the public portion of the meeting at 8: 22 p.m.

Motion carried, roll call vote was 7-0.

Respectfully submitted,

Nicole M. Schoener School Business Administrator